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full marks for the questions.

Answer either in English or in Assamese.

1. Answer the following questions ; 1x10=10

felt %

(a) If a matrix has 8 elements, what are
the possible orders it can have ?

^  8^
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(b) What is perpetual annuity?

(c) State True or False :

^  8

"In LPP, all variables may not be

positive." •

boi<5s

(d) Fill in the blank ;

^  ̂ 8

I a^dx=

(e) In a ratio a: b, if a > b, then it is called

a ratio of inequality.

(Fill in the blank)

a: b% a> b^,
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(f) The term of an AP is 3n-5. Find

the 15^ term.

^ "mm n ̂  3n-5l

15^

(g) If interest is compounded half yearly,

what is the formula for finding

amount ?

^  I

Given (fet

A-Amount

P= Principal

r= Rate

n = No. of years

(h) Define limit of a function f{x) at x= a.

x-a^/(x)
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(i) Fill in the blank :

^ ^ s

T- =ax

where x denotes the volume of output.

X Oi

(j) Write one difference between matrix and

determinant.

c5l=i<p*sp 'srfw^ 1

2. Answer the following questions : 2x5=10

(a) A man spends 85% of his income. If

his saving is ? 37-50, find his salaiy.

85% ̂

37-50 Wf I ^ 1
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(b) If (^)

'x + Sy .y "4 -r

^ 7-x 4 0  4

find the values of x and y.

/

(c) Divide Rs. 52 among A, B and C in the

ratio

52 A, B 'srt^ 5 : 4

(dj What sum of money will yield ^ 1,407

as interest in years at 14% p.a.

simple interest.

<r^ 14%

^ 1,407 ^41

(e) Evaluate (ft*# 4^1) :

Vl + 2x — -x/l —3x
lim
x->0 X
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"1 -r
, B =

a  1

2 -1 b -1

3. Answer the following questions : (any four)
5x4=20

(a) If(^)A =

and(^) (A + Bf =A^+b2,

find the value of a and h.

(C®^ "SfH

(b) The cost of computer is ̂  1,00,000 and
its life period is estimated to be 20
years. After 20 years, the computer is
expected to cost more by 20% over its
present cost. Find the sum to be
invested eveiy year at 5% p.a. CI for

20 years to replace this computer.

^  1,00,000 ^

•  20 4^^ $141 20 4^
^ 20% ̂  m 20 4^

£(1% W4 ̂

<ie?R 5%

45411
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(c) The total cost function for producing

X units of a commodity

7r = 300x-10x^+ix^.
3

Find the output levels at which the

marginal cost is minimum.

rc = 300x-10x^+-x^
3

sitf^ m

^ 1

(d) A bicycle agent allows 20% discount

on his marked price and makes 20%

profit on his outlay. What is the market
price of the bicycle on which be gains

Rs. 240 ?

20%

1%4FfW 20% ̂

I  240 ̂
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(e) If the p^, term of a GP are
X, y, z respectively then prove that

=1.

p^, q^, ^

X, y, z ^ CT

x^~\y'^~^ .z^~^ = 1 1

(f) If (^) 2 = 3x^ - 5x^y + 2y^,

show that (£W®f x— + y~ = 2,z
dx dy

4. (a) Integrate (^•j5=siH 4^^) S 2V2+2V2=5

(ii) j (6x + 8) yjsx^ +8x + 2 dx

(b) The marginal revenue function of a

product is Mi? = 8 + 5x-x^. Find the
total revenue and the average revenue,
given TR= 82 when x=5. 5

MR = 8 + 5x - x^ I ^ ^sriTl ^stR^
^1^ "Sft?! IR'IR I \5J17;^ pp = 82

rIw x= 5 1
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ORi

5. (a) Examine t±ie continuity of the following
function at x = 3 : 5

/W=

-9
,  if X ̂ 3

x-3

6  , if X = 3

(b) Find ̂  (~ 2'/2+2V'2=5
dx dx

(ij y = e^logx

(ii)

6. (a) Define linear programming' and state
its limitations. 4
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(b) Solve the following linear programming
problem by graphical method : 6

■

Maximize 'STR Z = 8x + by

subject to ; 2x + y < 500

x + y<250

x<lSO

x,y>0

OR / WW

7. (a) Two mixtures A and B contain glycerine
and water in the ratio 4; 5 and 3:2

respectively. How many litres of B must

be mixed with 81 litres of A so that

resulting mixture may contain equal

quantities of glycerine and water?

5
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^ fS3£l«t A

ira 4 : 5 ̂$11^3 : 2 I 81 f^f^H

(b) A man invested ^52,000 on ^100

shares at a discount of ̂  20 paying 8%

dividend. At the end of the year he sells

the shares at a premium of ?20.

Find —

(i) his annual dividend ;

(ii) the profit earned. 5

52,000 100 "54^

^N*f ̂  20 ̂  8% I

c*fw 20

^51^234^ ft# ̂ I

c®t?s ft4^ —

(i) ;

(ii) 05^^ ̂  "m I
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8. (a) Solve by Cramer's rule :

^ t

x+2y-z=3

3x-y+z=8

x+y+z=0

(b) If (^) A =
0  1

0 0
and

1 =
1  0

0  1
prove that ^ (7F)

(al + M)^ = a^I + 3a^bA 5

OR / 'smt
!

9. fa^ A contractor undertook to build a house

in 21 days and engaged 15 men to dO'
the work. After 15 days he found it
necessary to engage 9 more men and

he had finished it 1 day earlier. How
many days he would have been behind

time if he had not engaged the
additional men ? 5
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21 ^ ̂ 15

^  mc^jM <pfic=i 115

9 ̂  fei-jf ̂  1

Tf^cf <iiR(.Gi I fen-jf

fw -^ff^

A man borrowed ̂  9,000 to repay the

amount with interest of ̂  1,000 by

monthly instalments decreasing

successively by ^20. In how many

months was the loan repaid, if the first

instalment of ? 640 was paid one month

after the sum was lent? 5

1,000 Wl

9,000 ^ ̂«f "511^

4S{:%s 20 f%%C4H

^  I -^f}^ ̂  ^^11^ "R^

Wm 640 ̂  ^

1%^ ?
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10, (a) Evaluate : 272+2^2=5

4x^+5x-l
(i) lim —= 5

x->ac 6x^+7x^+4

4oTx~4a
(ii) hm
'' x^O X

(b) From the 1st principle, find the

derivative of
1

v^-

OR/

11. (a) Solve ^) : 5

a a X

m m m = 0

b X b
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(b) The simple interest on a sum for 3 years
at 4% is ? 303-60. Find the compound
interest on the sum for the same period
at the same rate. 5

4% ̂  3 4^ ̂

303-60 ̂  I

fc, t
.L..'
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